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Answer 06 Questions including question 01, which is compulsory. -

Question 1 carries twenty-five (25) marks and Questions 2 to 9 carry

fifteen (15) marks each.

(1) ' | (25 marks}

(i) A yarn in a tensile test has an initial length of 50cm. At the breaking
point its length is 53cm. what is the percentage extention of the yam?

(i) A fibre has a circular cross-section and its diameter is 7um. What is the
area of cross-section of the fibre? '

(iiiy Mass of a cube of copper with each side 5cm long is 1500g. Calculate
the density of copper.

(iv) Determine the gradient and the intercept of the straight line 4x + by = 8

(v) Define “%Moisture content “and “%Moisture Regain” of a given fibre
sample

(vi) Write the Ohm's Law.

{vii) Simplif%/ the following expression
(4 +5)? — (x+2)?

(viii) Write the following numbers in the standard form _ ,
(i) 0.0082 (i) 22,400

(ix) Calculate the Molecular weight of H;SO4 (H =1, S = 32, 0O =16)

- (x) A person lifts a bag of rice of 10kg to a vertical height of 2 m. Determine

the work done by the person.




(2) (a) Dgﬂne the terms * Absolute Humidity’ and ‘Relative Humidity"
' (03 marks)

(b) Discuss the influence of Humidity in day to-day life and in Industry.
(06 marks)

(c) Describe 3 advantages of the ideal humidity conditions in téxtile

processing plants. (06 marks)

(3) (a) Inthe case of a metal wire or a rod, the thickness can be expressed by
its diameter. But in the case of textile fibres and yarns, you can't
empioy this. Explain why? '

(04 marks)
(b) Define the term ‘linear density’ (03 marks)

(c) Calculate the mass of a yarn of 150m length which has the count of 15
Tex. (04 marks)

(d) Mass of a fabric sample of size 16cm x 16cm is 8 gram, Calculate the
‘surface density' of the fabric. (04 marks)

(4) (a) Use the theory of indices to simplify the following expressions.

(i) (0.027)"? (i) (32/1024)"°
(iii) (64/27) 2 (iv) (343/729) ** {04 marks)

(b) Simplify the following

-i2 23 ' .
[i) x 3° x[ 8 J ( 05 marks) fi
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(c) Determine the value of ‘X’ in the following equation

2" x 8" =64 {06 marks)

____-_--—_2




(5) (a) Solve the following equations

3x+8  2x-9
4 3

(i) 7x — 18y =15 (n)ig-—
5x —17y =19

{10 marks)

(b) A and B have certain sums of monéy. If A gives Rs. 15 to B, then A’s
sum will be twice that of B. If B gives Rs. & to A, then B's sum will be one
eighth of that of A. Caiculate the sums of money that A & B had.

{05 marks)
(6) (a) What are the base units of the S.1 Unit system, (03 marks)
(b) Write the S.I Units of the following physical quantities. (03 marks)

(i) Volume (ii) Electrical Energy (iii) Power

(iv) Electric charge  (v) Hydraulic Pressure (vi) Moment of a force

(c) Convert following units into SI Units. : (09 marks)
(i) 10,000 cm® (ii) 48 hrs (i) 5 gem™
(iv) 50 ml (v) 36 Km/h (vi) 10 gem™
(7) (a) State the Newton's Laws of motion: | (03 marks)
(b) Write three applications of Newton's third law. (06 marks)

(c} An object is accelerating at 2 ms™ " If the net force is doubled and mass
halved, what is the new acceleration? (06 marks)




(8) (a) Define the two parameters which characterize a straight line graph.
=
(03 marks)

{b) The fabric production (P) (m?/ week) of a loom is given by following
formula. _
p_ (900 x E)

m Where E is efficiency of the loom as a percentage.
The efficiency varies as 40, 45,50, 55, 60, 65 and 70.

(i) Construct a table to calculate the production of fabric under each
efficiency. (04 marks)

(i) Plot the graph of P and E. (04 marks)
(ifi) If the factory wants to produce 500m? of fabric per week, with the help of

the graph, calculate the required efficiency of the loom.
(04 marks)

(9) (a) Define "Percentage Concentration” and “Molar Concentration” of a

solution. (03 marks)

(b) Determine the gram molecular weight of NaOH. (Na = 23, 0O=16, H=1)
(04 marks)

(c) 150 gram of NaOH is contained in 4 litres of solution. Determine the
malar concentration of NaOH solution. (04 marks)

(d) 50ml of NaOH solution is required to neutralize, 25ml of HC! solution of
concentration 1 M. Determine the concentration of NaOH solution.
(04 marks)




